

2nd week

Notes on differential Equⁿ. for Sem 2 Math Hons Paper C-4T Amalansu Sekhar Pattanayak.

Page 1

Super Position Principle: Fundamental Theorem of homogeneous ODE (ordinary diff. Equⁿ) $(D^2 + P D + Q)y = 0$ or $f(D)y = 0$

ie $y'' + p y' + q y = 0 \dots \textcircled{1}$ If $y_1(x), y_2(x)$ be (linearly independent) L.I. the two sol^s of $\textcircled{1}$ then the linear combination of these two solution again be the solution of $\textcircled{1}$.
These principle holds good only for homogeneous diff. Equⁿ but not for non homogeneous equⁿ.

* If $y_1(x), y_2(x) \dots y_n(x)$ be the n solutions of linearly independent of the diff. Equⁿ $\frac{d^2 y}{dx^2} + p_1 \frac{d^{n-1} y}{dx^{n-1}} + \dots + p_{n-1} \frac{dy}{dx} + p_n y = 0 \dots \textcircled{2}$ or $f(D)y = 0$
then $y = c_1 y_1 + c_2 y_2 + \dots + c_n y_n$ [ie linear combination of the n solution] is also an integral or solution of $\textcircled{2}$. where $y_1, y_2 \dots y_n(x)$ be the independent solutions. As order of $\textcircled{2}$ is n so there will be n arbitrary Consts.

This concept often called Super Position Principle or linearity principle only for linearly independent sol^s.
For 2nd order homogeneous diff. equⁿ. $D^2 y + P D y + Q y = 0$
it will be $y = c_1 y_1 + c_2 y_2$ two arbitrary constants c_1, c_2
and $y_1(x), y_2(x)$ be the two independent sol^s.

For non homogeneous equation $\frac{d^2 y}{dx^2} + P \frac{dy}{dx} + Q y = R(x)$
its solution has two parts: Homogeneous Diff. Equⁿ
~~complementary function~~ will be obtained by putting $R(x) = 0$
By trial solⁿ $y = e^{mx}$ Auxiliary Equation will be obtained, values of m will be found. By Rule
C.F will be obtained is the 1st Part of the solution

Page-2

2

2nd Part of the solution is Particular Integral (P.I.) without any arbitrary constant.

$$P.I. = \frac{1}{f(D)} R(x) \quad \text{where } f(D) = D^n + p_1 D^{n-1} + \dots + p_{n-1} D + p_n$$

Where $f(D) = D^n + p_1 D^{n-1} + \dots + p_{n-1} D + p_n$
 for 2nd order $f(D) = D^2 + p_1 D + q$ [D is differential operator]

Complete solution = Complementary function + Particular integral,
 $= C.F. + P.I.$

Existence of linearly independence is verified by Wronskian. If $y_1(x), y_2(x)$ be any solⁿs.

where then $W(y_1, y_2) = \begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix}$ maybe $W(y_1, y_2, x)$
 (Wronskian determinant)

If $W(y_1, y_2) \neq 0$ then y_1, y_2 solⁿs are linearly independent.
 otherwise not linearly independent or (linearly dependent).

EX. Verify the solutions of D.E $y'' - 5y' + 6y = 0$ [$y'' = \frac{d^2 y}{dx^2}$]
 are linearly independent? $(\frac{d^2 y}{dx^2} - 5\frac{dy}{dx} + 6y = 0)$

Solⁿ: - Its A.E is $m^2 - 5m + 6 = 0$. $y' = \frac{dy}{dx}$

$$\Rightarrow (m-3)(m-2) = 0 \Rightarrow m = 3, 2$$

Two solⁿs are $y_1 = e^{2x}, y_2 = e^{3x}$

$$\text{So } W(y_1, y_2, x) = \begin{vmatrix} e^{2x} & e^{3x} \\ 2e^{2x} & 3e^{3x} \end{vmatrix} = 3e^{5x} - 2e^{5x} = e^{5x}$$

so $e^{5x} \neq 0$

Hence these two solⁿs are L.I. (linearly independent)

Solution of ~~diff~~ linear homogeneous diff. eqⁿ non-homogeneous of higher order with constant coefficients.

EX. 1. $(D^4 - 5D^2 + 4)y = 0$ This ~~eqn~~ D.E. is of the form

$$\frac{d^4 y}{dx^4} - 5 \frac{d^2 y}{dx^2} + 4y = 0 \quad \text{Its A.E. is}$$

$$m^4 - 5m^2 + 4 = 0 \quad \text{by a trial solⁿ } y = e^{mx}$$

$$\text{or, } (m^2 - 4)(m^2 - 1) = 0 \Rightarrow m = 2, -2, 1, -1$$

So C.F. or general solution (as it is homogeneous D.E.)

$$y = c_1 e^{2x} + c_2 e^{-2x} + c_3 e^x + c_4 e^{-x}, \quad c_1, c_2, c_3, c_4 \text{ being arbitrary constants.}$$

Ex. 2 solve $\frac{d^4 y}{dx^4} + ay = 0$

Solⁿ. The Auxiliary eqⁿ is $m^4 + a^4 = 0$.

$$\text{or } (m^2 + a^2)^2 - (\sqrt{2}am)^2 = 0$$

$$\text{or, } (m^2 + a^2 + \sqrt{2}am)(m^2 + a^2 - \sqrt{2}am) = 0$$

$$\text{either } m^2 + a^2 + \sqrt{2}am = 0 \quad \text{or, } m^2 + a^2 - \sqrt{2}am = 0$$

$$\text{hence } m = \frac{-\sqrt{2}a \pm \sqrt{2a^2 - 4a^2}}{2} \quad \text{and } m = \frac{\sqrt{2}a \pm \sqrt{2a^2 - 4a^2}}{2}$$

$$= -\frac{a}{\sqrt{2}} \pm i \frac{a}{\sqrt{2}} \quad = \frac{a}{\sqrt{2}} \pm i \frac{a}{\sqrt{2}}$$

Hence the general solⁿ is

$$y = e^{-\frac{ax}{\sqrt{2}}} \left\{ c_1 \cos\left(\frac{ax}{\sqrt{2}}\right) + c_2 \sin\left(\frac{ax}{\sqrt{2}}\right) \right\}$$

$$+ e^{\frac{ax}{\sqrt{2}}} \left\{ c_3 \cos\left(\frac{ax}{\sqrt{2}}\right) + c_4 \sin\left(\frac{ax}{\sqrt{2}}\right) \right\}$$

c_1, c_2, c_3, c_4 being arbitrary constants.

Consult Diff. Equation A.M.D. Raisinghania
2) Maity Ghosh.

3

To solve the non-homogeneous diff. eqnⁿ, we have to know how to find the particular integral. because it has two parts 1st part is C.F (Complementary function) which is found early ^{equating} the R.H.S. of S.E. to Zero.

Now Particular integral = $\frac{1}{f(D)} R(x)$ or, $\frac{1}{f(D)} \cdot f(x)$ etc

Results on Symbolic Operator
 (i) $f(D) e^{ax} = f(a) e^{ax}$ where $f(D)$ be any rational integral function of D .

(ii) $f(D) e^{ax} \cdot v = e^{ax} f(D+a) v$, where v is function of x etc etc

again $D(x^2) = 2x$; $D(\sin x) = \cos x$.

$\frac{1}{D}$ is the inverse operator s.t.

$$\frac{1}{D} 2x = x^2, \quad \frac{1}{D^2} x = \frac{1}{D} \cdot \frac{1}{D} x = \frac{1}{D} \left(\frac{1}{2} x^2 \right) = \frac{1}{2} \cdot \frac{1}{3} x^3 = \frac{1}{6} x^3$$

$$\frac{1}{D^2} (\cos x) = -\cos x \quad \text{etc.}$$

Rule: (i) $\frac{1}{f(D)} e^{ax} = e^{ax} \cdot \frac{1}{f(a)}$ if $f(a) \neq 0$ ~~then it fails~~

so $\frac{1}{f(D)} e^{ax} = \frac{1}{f(D)} e^{ax}$ if $f(a) = 0$ and say

(2) $f(D) = (D-a)^n, n=1, 2, \dots$
 then P.I = $\frac{1}{(D-a)^n} \cdot e^{ax} = e^{ax} \cdot \frac{1}{(D+a-a)^n} \cdot 1 = e^{ax} \cdot \frac{1}{D^n} \cdot 1$

again if $f(D) = (D-a)^r \cdot \phi(D)$ where $\phi(a) \neq 0$.

then P.I = $\frac{1}{(D-a)^r} \cdot \frac{1}{\phi(D)} \cdot e^{ax} = \frac{1}{\phi(a)} \cdot \frac{1}{(D-a)^r} \cdot e^{ax}$
 $= \frac{1}{\phi(a)} \cdot e^{ax} \cdot \frac{x^r}{r!}$

To find the P.I. of $\frac{1}{\phi(D)} \sin ax = \frac{\sin ax}{\phi(-a^2)}$

$$\frac{1}{\phi(D)} \cos ax = \frac{\cos ax}{\phi(-a^2)}$$

Put $D = -a^2$ if $\phi(-a^2) \neq 0$.

If $\phi(-a^2) = 0$ then $\frac{1}{\phi(D)} \sin ax = x \cdot \frac{\sin ax}{\phi'(-a^2)}$

again if $\phi'(-a^2) = 0$ then $\frac{1}{\phi(D)} \sin ax = x^2 \frac{\sin ax}{\phi''(-a^2)}$

etc. Consult Book.

To find P.I. of $\frac{1}{D^2 + a^2} \cos ax$

= Real part of $\frac{1}{D^2 + a^2} e^{iax}$

P.I. of $\frac{1}{D^2 + a^2} \sin ax$ = Imaginary part of $\frac{1}{D^2 + a^2} e^{iax}$.

Rule. $\frac{1}{f(D)} e^{ax} \cdot v = e^{ax} \frac{1}{f(D+a)} \cdot v$ (where v is function of x)

Find P.I. of $\frac{1}{D^2 + 9} (x \sin x)$ = imaginary part of $\frac{1}{D^2 + 9} x e^{ix}$

$$= \text{I.P. of } e^{ix} \frac{1}{(D+i)^2 + 9} x \quad \text{by } \frac{1}{f(D)} \cdot v e^{ax} = \frac{1}{f(D+a)} v$$

$$= \text{I.P. of } e^{ix} \cdot \frac{1}{D^2 + 2iD + 8} x = \text{I.P. of } \frac{e^{ix} \cdot 1}{8(1 + \frac{D+2iD}{8})} \cdot x$$

$$= \text{I.P. of } \frac{e^{ix}}{8} \left[1 + \frac{iD}{4} + \frac{D^2}{8} \right]^{-1} x$$

$$= \text{I.P. of } \frac{e^{ix}}{8} \left(1 - \frac{iD}{4} + \dots \right) x$$

as $D(x) = 0$,
neglecting D^2 & higher power

imaginary part (I.P.) = I.P. of $\frac{1}{8} (\cos x + i \sin x) (x - \frac{i}{4})$

$$= \frac{1}{8} \left\{ x \sin x - \frac{1}{4} \cos x \right\}$$

Ex Solve $(D^2+2D+1)y = x e^x \sin x$ or find general solutions.

Solⁿ: For the C.F. Let us solve the equation

$(D^2+2D+1)y = 0$. So Auxiliary eqⁿ is
 $m^2+2m+1=0$ if $y = e^{mx}$ be a trial solⁿ.

$$m = -1, -1$$

$\therefore$ C.F. = $(C_1 + C_2 x) e^{-x}$, C_1, C_2 being arbitrary constants

$$\begin{aligned} P.I. &= \frac{1}{(D+1)^2} e^x (x \sin x) = e^x \cdot \frac{1}{(D+1-1)^2} x \sin x \\ &= e^x \frac{1}{D^2} (x \sin x) = e^x \cdot \frac{1}{D} \cdot \frac{1}{D} (x \sin x) \quad \text{integrating by parts} \end{aligned}$$

$$= e^x \frac{1}{D} \int x \sin x dx = e^x \frac{1}{D} (-x \cos x + \sin x)$$

$$= e^x \int (\sin x - x \cos x) dx = e^x \left[\int \sin x dx - \int x \cos x dx \right]$$

$$= e^x [-\cos x - \{x \sin x + \cos x\}] = e^x (-x \sin x - 2 \cos x)$$

The required general solⁿ = $y_c + y_p$

$$\therefore y = (C_1 + C_2 x) e^{-x} - e^x (x \sin x + 2 \cos x)$$

Ex Find the complete solution of $(D^3+1)y = \cos \frac{\sqrt{3}}{2} x + e^{-x}$

Solⁿ: For C.F. Let $(D^3+1)y = 0$. its

A.E. is $m^3+1=0$ by a trial solⁿ $y = e^{mx}$

$$\therefore (m+1)(m^2-m+1)=0 \Rightarrow m = -1, m = \frac{1}{2} \pm i \frac{\sqrt{3}}{2}$$

$$\text{So C.F.} = C_1 e^{-x} + e^{\frac{x}{2}} \left(C_2 \cos \frac{\sqrt{3}}{2} x + C_3 \sin \frac{\sqrt{3}}{2} x \right)$$

Now for P.I.

$$\begin{aligned}
 P.I &= \frac{1}{D^3+1} \left[\cos^2 \frac{x}{2} + e^{-x} \right] = \frac{1}{D^3+1} \cos^2 \frac{x}{2} + \frac{1}{D^3+1} e^{-x} \\
 &= \frac{1}{D^3+1} \left(\frac{1+\cos x}{2} \right) + \frac{1}{(D+1)(D^2-D+1)} e^{-x} \\
 &= \frac{1}{2D^3+1} e^{0x} + \frac{1}{2} \frac{1}{D^2 \cdot D+1} \cos x + \frac{1}{(-1)^2 - (-1) + 1} \cdot \frac{1}{D-1+1} e^{-x} \\
 &= \frac{1}{2} + \frac{1}{2} \frac{1}{-D+1} \cos x + \frac{1}{3} e^{-x} \\
 &= \frac{1}{2} + \frac{1}{2} \frac{(1+D)}{1-D^2} \cos x - \frac{1}{3} e^{-x} \quad [D^2 = -1] \\
 &= \frac{1}{2} + \frac{1}{2} \cdot \frac{1}{2} (\cos x - \sin x) - \frac{1}{3} e^{-x} \\
 &= \frac{1}{2} + \frac{1}{4} \cos x - \frac{1}{4} \sin x - \frac{1}{3} e^{-x}
 \end{aligned}$$

Hence the complete solⁿ is

$$y = C_1 e^{-x} + e^{x/2} \left(C_3 \cos \frac{\sqrt{3}}{2} x + C_4 \sin \frac{\sqrt{3}}{2} x \right) + \frac{1}{2} + \frac{1}{4} (\cos x - \sin x) - \frac{1}{3} e^{-x}$$

EX Find the complete solution of

$$\frac{d^2 y}{dx^2} - 3 \frac{dy}{dx} + 2y = x e^{3x} + \sin 2x$$

Solⁿ:- To find C.F. let $(D^2 - 3D + 2)y = 0$
 its A.E is $m^2 - 3m + 2 = 0$, by trial solⁿ $y = e^{mx}$
 $\Rightarrow m = 1, 2 \therefore C.F = C_1 e^x + C_2 e^{2x}$

$$\begin{aligned}
 P.I &= \frac{1}{D^2 - 3D + 2} (x e^{3x} + \sin 2x) = \frac{1}{D^2 - 3D + 2} x e^{3x} + \frac{1}{D^2 - 3D + 2} \sin 2x \\
 &= e^{3x} \cdot \frac{1}{(D+3)^2 - 3(D+3) + 2} \cdot x + \frac{1}{-4 - 3D + 2} \sin 2x \\
 &= e^{3x} \cdot \frac{1}{D^2 + 6D + 9 - 3D - 9 + 2} \cdot x + \frac{1}{-3D - 2} \sin 2x
 \end{aligned}$$

$$= \frac{e^{3x}}{2} \left[1 + \frac{3D + D^2}{2} \right]^{-1} x - \frac{3D-2}{9D^2-4} \sin 2x$$

$$= \frac{e^{3x}}{2} \left[1 - \left(\frac{3D + D^2}{2} \right) + \dots \right] x - \frac{(3D-2)}{9(-4)-4} \sin 2x \quad [D^2 = -4]$$

$$= \frac{1}{2} e^{\frac{3x}{2}} \left[x - \frac{3D + D^2}{2} x + \dots + \frac{3}{40} D(\sin 2x) - \frac{\sin 2x}{20} \right]$$

$$= \frac{1}{2} e^{\frac{3x}{2}} \left(\frac{2x-3}{2} \right) + \frac{3}{20} \cos 2x - \frac{1}{20} \sin 2x$$

Hence complete solution is

$$y = CF + P.I.
= C_1 e^x + C_2 e^{2x} + \frac{e^{\frac{3x}{2}}}{4} (2x-3) + \frac{3}{20} \cos 2x - \frac{1}{20} \sin 2x$$

Ex Prove that each of the functions x, x^2, x^4 are independent solutions of $x^3 \frac{d^3 y}{dx^3} - 4x^2 \frac{d^2 y}{dx^2} + 8x \frac{dy}{dx} - 8y = 0$, write the general solution.

Solⁿ. Now putting $y = x, x^2$ and x^4 we get

$$\textcircled{1} \quad x^3 \frac{d^3}{dx^3}(x) - 4x^2 \frac{d^2}{dx^2}(x) + 8x \frac{d}{dx}(x) - 8 \cdot x$$

$$= x^3 \cdot 0 - 4x^2 \cdot 0 + 8x - 8x = 0$$

$$\textcircled{2} \quad x^3 \frac{d^3}{dx^3}(x^2) - 4x^2 \frac{d^2}{dx^2}(x^2) + 8x \frac{d}{dx}(x^2) - 8x^2$$

$$= x^3 \cdot 0 - 4x^2 \cdot 2 + 8x(2x) - 8x^2 = 0$$

$$\textcircled{3} \quad x^3 \left(\frac{d^3}{dx^3} \right)(x^4) - 4x^2 \frac{d^2}{dx^2}(x^4) + 8x \frac{d}{dx}(x^4) - 8x^4 = 0$$

hence, x, x^2, x^4 are solutions. Their Wronskian $W(x, x^2, x^4) = \begin{vmatrix} x & x^2 & x^4 \\ 1 & 2x & 4x^3 \\ 0 & 2 & 12x^2 \end{vmatrix}$

$$= x \begin{vmatrix} 2x & 4x^3 \\ 2 & 12x^2 \end{vmatrix} - x^2 \begin{vmatrix} 1 & 4x^3 \\ 0 & 12x^2 \end{vmatrix} + x^4 \begin{vmatrix} 1 & 2x \\ 0 & 2 \end{vmatrix}$$

$= 6x^4 \neq 0$ So x, x^2, x^4 are linearly independent

solutions of the given differential equation

The general solution is $y = C_1 x + C_2 x^2 + C_3 x^4$, C_1, C_2, C_3 are arbitrary constants

Ex. Given $y=x$ is a solution of the D.E.

$$(x^2+1) \frac{d^2y}{dx^2} - 2x \frac{dy}{dx} + 2y = 0 \quad \text{--- (1)} \quad 0 < x < \infty, \text{ then}$$

find another independent solution.

Solⁿ: - Let the transformation $y = vx$ (let v is function of x)

$$\text{Then } \frac{dy}{dx} = x \frac{dv}{dx} + v \quad \text{and} \quad \frac{d^2y}{dx^2} = x \frac{d^2v}{dx^2} + \frac{dv}{dx} + \frac{dv}{dx} \\ = x \frac{d^2v}{dx^2} + 2 \frac{dv}{dx}$$

Now the given diff. eqnⁿ (1) is transformed to

$$(x^2+1) \left(x \frac{d^2v}{dx^2} + 2 \frac{dv}{dx} \right) - 2x \left(x \frac{dv}{dx} + v \right) + 2vx = 0$$

$$\text{or } x(x^2+1) \frac{d^2v}{dx^2} + 2x^2 \frac{dv}{dx} + 2 \frac{dv}{dx} - 2x^2 \frac{dv}{dx} - 2vx + 2vx = 0$$

$$\text{or, } x(x^2+1) \frac{d^2v}{dx^2} + 2 \frac{dv}{dx} = 0 \quad \text{--- (2)}$$

$$\text{Put } \frac{dv}{dx} = w \Rightarrow \frac{dw}{dx} = \frac{d^2v}{dx^2}$$

$$\text{Hence (2) becomes } x(x^2+1) \frac{dw}{dx} + 2w = 0 \quad \text{--- (3)}$$

which is 1st order differential eqnⁿ.

from (3) we have

$$\frac{dw}{w} = - \frac{2}{x(x^2+1)} dx \quad \text{integrating}$$

$$\log w = \int - \frac{2 dx}{x(x^2+1)} = -2 \int \frac{x^2+1 - x^2}{x(x^2+1)} dx$$

$$\log w = -2 \left\{ \int \frac{dx}{x} - \int \frac{x}{x^2+1} dx \right\}$$

$$\therefore \log w = -2 \left\{ \log x - \frac{1}{2} \log(x^2+1) \right\} + \log c$$

$$\text{or } \log w = \log \frac{c(x^2+1)}{x^2} \Rightarrow w = \frac{c(x^2+1)}{x^2}, \text{ put } c=1$$

$$\text{one particular solution is } w = \frac{x^2+1}{x^2} \text{ or, } \frac{dv}{dx} = \frac{x^2+1}{x^2} \quad [w = \frac{dv}{dx}]$$

$$\text{or, } \int dv = \int \frac{x^2+1}{x^2} dx \Rightarrow v(x) = x - \frac{1}{x}$$

$$\text{another solⁿ is } y = v(x) \cdot x \Rightarrow y = x \left(x - \frac{1}{x} \right) = x^2 - 1$$

$$\text{now Wronskian } W(x, x^2-1) = \begin{vmatrix} x & x^2-1 \\ 1 & 2x \end{vmatrix} = x^2+1 \neq 0.$$

Hence the two solutions $y=x$ and $y=x^2-1$ are independent

the general solution is $y = c_1 x + c_2 (x^2-1)$.

Solve $x \frac{d^2 y}{dx^2} - (2x-1) \frac{dy}{dx} + (x-1)y = 0$ given that ①

$y = e^x$ is an integral included in the C.F.

Soln - Let Putting $y = ve^x$ in given eqn. ①

$$\therefore \frac{dy}{dx} = ve^x + e^x \frac{dv}{dx}$$

$$\therefore \frac{d^2 y}{dx^2} = ve^x + e^x \frac{dv}{dx} + e^x \frac{d^2 v}{dx^2} + e^x \frac{dv}{dx}$$

$$\textcircled{1} \text{ reduces to } x(ve^x + 2e^x \frac{dv}{dx} + e^x \frac{d^2 v}{dx^2}) - (2x-1)(ve^x + e^x \frac{dv}{dx}) + (x-1)ve^x = 0$$

dividing by e^x we get $e^x \neq 0$.

$$xv + 2x \frac{dv}{dx} + x \frac{d^2 v}{dx^2} - 2xv - 2x \frac{dv}{dx} + v + \frac{dv}{dx} + xv - v = 0$$

$$\Rightarrow x \frac{d^2 v}{dx^2} + \frac{dv}{dx} = 0 \text{ - } \textcircled{2} \text{ again put } \frac{dv}{dx} = Z.$$

$$\frac{d^2 v}{dx^2} = \frac{dZ}{dx}$$

$$\textcircled{2} \text{ becomes } x \frac{dZ}{dx} + Z = 0$$

$$\text{or } \frac{dZ}{Z} = -\frac{dx}{x} \text{ integrating } \log Z = -\log x + \log c$$

$$\therefore Z = \frac{c_1}{x} \text{ or, } \frac{dv}{dx} = \frac{c_1}{x}$$

$$\text{or } dv = c_1 \frac{dx}{x} \text{ integrating}$$

$$v = c_1 \log x + c_2$$

$$\therefore y = v \cdot e^x = (c_1 \log x + c_2) e^x \text{ is the required soln.}$$